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1)
2)
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[Max. Marks : 50

stions_are compulsory.

0.5 having internal choices.

[20 x V2 = 10]

a) fi;y‘g ﬁd‘iame binary tree the height of twa subire?e of everynode can not
differ by more than g -
) 2
) 3 ‘
b) The header in linked ﬁs{f@ﬁ‘”iaﬁz L
i)  First record ¢t act}g,; ta
i)  Last recard @l a“\ ﬁalég *:a
iii) Pointer (o the’ m@i’ rem «d of the actual data
1V)e NOwe Of these 4
¢) #What'd€ vou call théﬁ;séﬁﬁcisé keys in the quick sort method? .
iN Outer Key i) Inner Key
iii) Pivot Key iv) Partition Ké&v ’
d) Which method of traversal does not use stack’ to,holc ;gude*« that are
waiting to be processed? AN
i)  D-search
i) Dept First 1
e)  The knapsack problem where the ab}@ca‘ve iumimn is to minimize the

profit 1s

i)  Greedy ii) . Bynamic 0/1

iwj> None of these

i) Back tracking

PTO.




£

g)

h)

k)

D)

i§ O (n?) iv) O (nlogn)
% To represent hierarchical between elements W

What is the type of the algorithm used in solving the 8 Queens Problem?

i)  Back tracking ~.il)  Dynamic

iit) Branch & Bound " iv) None of these

Popping is an act of M
Adding val &y

'}gﬁes from stack @

i) Heap

ﬁ%@; Prmgty Queue iv) Stack

For a“‘@lven array, there can be multiple wa £ +dach the end of the
“Using minimum number of jumps,

i True é

Depth First Search 1s eqmva%er;w«:o\, 3 h}ﬁ:}z“ Of the traversal in Binary
trees?

i)  Pre order

iii) Level order o
A graph in which & es ha”‘ve equal degree is known as
iy  Complet ; ii) Regular graph

i) Mu

ud iv) Simple graph
The, tim&comp! emty Qf quick sort is

i) O (log n)

E

suitable?
1)  Dequeue
i) Tree

An algorithm in which we divide th&ggﬁ%iam mto sub problem and
then we combine the sub solﬂuon& fo) f@{fm solution to the original

problem is known as ; e
i)  Brute force ii) @W;de and conquer
iii) Greedy algorithm }“ﬁ None of these




0) The complexity of linear search algorithm is
) O (n) 1. 11) O (log n)
i) O (n? 1v) O (n log n)
p) InaMax-heap, element w1th gredtest key is always in the which node?

i)  leaf node

Q).
11) Graph coloring ‘problems
us iv) Combinatieffal problem
T) dny directions do Queens attack each oth@r?
i 3 :
iv) ol NP

s) If a problem can be broken into sub *}@Loblemﬁ Wthh are reused several
times, the problem possesses 2 o

1)  Overlapping subproblem i% 1
1) Memorization Creedy
t)  Which of the following@e(oblexﬁs is NOT solved using Dynamic
Programming? : .
1)
i)

iii)

1v)

02) )., Bfaw the AVL tree for the following
4,18, 12,2, 3, 7, 5.
b)

[2]

c)  Explain linear probing.
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L renyT1l19

OR

a) Draw Binary Search Tree for foﬂaawing data. (4]
35, 89, 43, 76, 29, 55, 87, 65
b) Apply the BFS a}gorlthm to fraverse the following graph. [4]

c) EXp]am Hash Table. [2]

03) a) Apﬁ;lyf‘ Recursive Staircase algorithm_to followmg""ploblem Input : n = 3.

me the figure and find solutiofl, .4 [41
b) Write an algorithm to implement-Cir Cf‘eulaf queue using linked list. [4]
¢) Explain Hamiltonian Cycle, \\ [2]

a)  Apply Rain Terraceralgos 5]

Draw the figuréandA [4]
b) Write an/algarithim to‘ nseﬁ{element in stack using linked lis [4]
¢) Discuss combmahoﬂ sun: 21

b) Apply Prim's Alg

following graph

(2]

c) Explam uses of gu
. (.agemem&

NN 4



OR

a) Write an algorithm to find G@D of 44 and 17 using Euclidean

algorithm. N [4]
by Write Dijkstra Alg@rlthm o [4]
¢) Discuss Doubie M&d }\r&tﬁ. 2]

05) a) Find the 1@1‘%@& gommon subsequence for the following stri ing
Dynamgf :ngr%mmmo 6 71
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